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No. of Questions
Unit | Name of the Unit Objective Short Short Long Long Total
No. Type Q. Answer Answer Answer | Answer
1 Marker | I | I
3 Marks 4 Marks | 6 Marks | 8 Marks
1 Introduction to Accounting
(Introduction; Basic Accounting 4 1 1 11M (6Q.)
Terms)
2 Theory Base of Accounting
(Principles; Systems of Accounting; 2 1 1 12M (4Q.)
Basis of Accounting; Ind AS; GST)
3 Recording of Transactions — |
(Source Documents & Vouchers;
Accounting Equation; Rules of Debit 6 ! 1 1 21m (9@
& Credit; Journal & Ledger;
4 Recording of Transactions-II
(Cash Book; Subsidiary Books) 4 1 ! 1aM(6Q))
5 Bank Reconciliation Statement 2 1 8M (3Q.)
6 Depreciation; Provisions & ) 1 1 14M (4Q.)
Reserves
Total No. of Questions 204Q. 2q 5Q 3q 2q (gggl)

e There will be an internal choice in questions of 3 marks, 4 marks, 6 marks and 8 marks (one each). All questions

carrying 8 marks will have an internal choice.




SAMPLE PAPER
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Subject — Accountancy
Class — XI

Time Allowed: 3 Hrs.

Max. Marks:80

General Instructions:

1. This question paper contains 32 question and 5 pages.

2. All questions are compulsory.

3. Internal choice is given in question No. 21,27,30,31 and 32.
4. All parts of questions should be attempted at one place.

1 | The person who makes investment and bears the risks of the business is called
2 | In two column cash book, the word ‘C’ stands for ------------------ .
3 | Journal is a book Of ---------------=------
4 is an example of Artificial Personal Account.
5 | State whether following statement is true or false:

Accounting and Accountancy are considered as one and the same.
6 | State whether following statement is true or false:

Cash basis of accounting doesn’t records all the transactions.
7 | State whether following statement is true or false:

Bank column of cash book may show either debit balance or credit balance.
8 | State whether following statement is true or false:

Depreciation is charged on all assets at the end of the year.
9 | Match the following:-

A B
(i) Cash receipts are () Recorded in sales book
(i) Credit sales of goods
(b) Debited to cash book
10 | A withdrawal of cash from business by the proprietor is credited to :-
(a) Drawing (b) capital (c) cash (d) profit and loss account

11 | No. of Ind_AS so far notified under Companies Act 2013 are:

(i 39

(i) 40

(iii) 41

(iv) 42
12 | The balance of petty cash book is

(1) Expense (ii) profit (iii) Asset (iv) None of these
13 | Sale of machinery to Ram is :-

(1) Recorded in the Sales Book




(i) Recorded in the Cash Book
(iii) Recorded in the Journal Proper
(iv) None of these

14

Credit balance of cash book represents:

(i) Positive balance

(i) Negative Balance

(iii) May be positive or negative balance
(iv) credit balance never exists in cash book

15

Book keeping is mainly concerned with:

(1) Recording of financial data

(if) Designing the systems of summarizing the recorded data
(iii) Interpreting the data

(iv) Preparation of financial statements

16

Cheque is used for:

(i) Depositing cash into bank

(i)  Withdrawing cash from bank

(iii) Correction of mistakes done by bank
(iv) Online fund transfers

17

If the amount of any known liability can be determined with accuracy:
(1)  Areserve should be created.

(i) A provision is made.

(iii) A liability should be provided.

(iv) Nothing should be done in books.

18

Credit means

(1) A decrease in asset
(i) Anincrease in liability
(iii) An increase in capital
(iv) All of these

19

Invoice is:

(i) Cash Voucher
(it) Source Voucher
(iii) Transfer Voucher
(iv) None of above

20

Which type of accounting information reveals profit earned or loss incurred?
(i) Balance sheet

(i) Tradingand P & L Account

(iii) Cash book

(iv) Journal

21

Explain the meaning with example:
(i) Expense
(i) Expenditure (iii) Drawing

OR
Explain the meaning with example:

(i) Current assets
(i) Intangible assets (iii) Bank overdraft

22

Prepare accounting vouchers of Mona General Store, Delhi from the following transactions:
2019
Oct.10 Bought goods from Sonu Store for vide bill no. 191 for ¥ 3,500.
Oct.16 Paid ¥ 2,500 to Rama & Sons for the purchases of goods vide Bill No. 112 dated Sept.10,




2014.

23

Differentiate between book keeping and accounting.

24

Define Accrual basis of accounting Explain its disadvantages (any three)

o

25

Prepare accounting equation.

(i) Started business with cash ¥ 40,000 and goods % 10,000.
(i) Cash withdrawn % 2,000.

(iii) Purchased goods for cash % 10,000 and on credit ¥ 20,000.
(iv) Interest due but not paid X 500.

SN

26

Enter the following transactions in the Purchases Book of Bharat Furniture House, Delhi:
Feb 3 Bought goods from Rajat Furniture House, Delhi vide Invoice No. 053
25 Chairs @ % 400 each
20 Tables @ ¥ 800 each
Less : 10% Trade Discount
Feb 9 Purchased from Jasmine Furniture’s, Rohtak
5 Sofa sets @ ¥ 4,000 each
5 Centre Tables @ X 2,000 each
Less: 15% Trade Discount.
Feb 21  Purchased delivery van for % 1, 50,000 from Mahindra Sons on two month credit.
Feb 25 Bought goods from Goyal Furniture House vide cash memo no. 103
30 Almirahs @ ¥ 5,000 each.

27

Is Reserves charge against profit or an appropriation of profit discuss.
OR

What is meant by Provision? Explain any three reasons behind creating Provisions.

28

Describe the following accounting principles:
(i) Full disclosers
(i) Conservatism (iii)Historical cost concepts

29

Prepare cashbook with cash and bank column for April 2019:

2019

Apr 01 Rohan started business with cash ¥ 60,000.

Apr 03 Opened a current account with Axis Bank with ¥ 20,000.
Apr 09 Salary Paid ¥ 14,000.

Apr 13 Withdrawn from bank % 5,000.

Aprl8 Goods Purchased from Raman for % 6,000 vide bill no. 072.
Apr 22 Received from Bharat for rent ¥ 4,000.

30

From the following particulars prepare a Bank Reconciliation Statement as on 31% December, 2018:
(i) Debit balance as per cash book ¥ 1, 10,000.

(i) Cheques of % 8,000 and X 18,000 deposited but not collected up to 31 Dec 2018.

(iii) Cheque of % 10,000 and X 6,000 issued but were not presented up to 31 Dec 2018.

(iv) Bank debited the account by X 4,000; being insurance premium paid.

(v) Bank charges as per pass book X 1,000.

(vi) A cheque of X 9,000 received from a customer was entered in bank column of cashbook but it




was deposited into bank on 01-01-2019.
OR

From the following particulars, prepare a Bank Reconciliation Statement as on 31% March 2019:
i) Debit Balance as per Pass Book X 8,200.
i) Cheque received and entered into cash book X 1,200 but not sent to bank.
iii) Cheques issued but not presented X 1,800.
iv) The payment of a cheque of X 550 were recorded twice in passbook.
v) Bank credited X 200 for interest.
vi) Bank charged commission X 60.

31

Journalise the following transactions:

2019

Jan 1 Commenced business with cash X 60,000

Jan 3 Furniture purchased for X 16,000

Jan 5 Bought goods from Ram worth X 18,000, IGST levied at 18%.
Jan 7 Sold goods to Jatin worth X 10,000 at 30% trade discount.

Jan 9 Paid Salary X 4,000.

Jan 13 Paid cash to Ram X 7,800, discount received X 200.

Jan 20 Commission received X 1,200.

Jan 24 Wages outstanding X 2,500.

OR
Journalese the following transactions:
2019
May 1 Started business with cash X 80,000.
May 3 Machinery Sold X 22,000
May 28 Cash deposited into bank X 20,000.
May 8 Sold goods to Ram worth X 15,000, CGST & SGST levied at 9% each.
May 11 Bought goods from Ashok worth X 20,000 less 10% trade discount.
May 13 Received cash from Ram Rs. 7,900 and allowed him discount Rs. 100.
May 15 Commission paid X 2,000.
May 28 Prepaid Salary X 3,000.

32

On 1% Oct. 2015, X Ltd. purchased a machinery for ¥ 5,00,000. On 30" June 2017, this machinery
was involved in an accident and completely destroyed; X 3,35,000 received from insurance company
in full settlement. On the same date, company purchased another machinery for X 4,00,000. The
company writes off 20% depreciation on WDV method and closed its books on 31%*March each year.
Depreciation is charged for full year even if machinery is used partly during year. Give the machinery
Account up to 31 March 2018.

OR

On 1%July 2015, Winfrey Ltd. purchased a machinery for ¥ 2,00,000 and spent X 50.000 on its
carriage and installations. On 1%t April 2016, it purchased another machinery for ¥ 1,80,000. On 30"
September of the same year it sold out the first machinery for X 1,25,000. On the same date, company
purchased another machinery for X 1,60,000. It sold out the second machinery purchased on 1 April
2016, for X 1,50,000 on 1%t July 2017. The company writes off 10% depreciation on SLM method and
closed its books on 31%March each year. Prepare Machinery Account up to 31 March 2018.

**** End of Question Paper ****
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CLASS 11
TIME: 3 HOURS M.M.80
S.NO. | NAME OF CHAPTER Obijective Short answer | | Short answer 11 Long answer | Long answer I
type/MCQ MARKS
1 MARK 3 MARKS 4 MARKS 5 MARKS 6 MARKS

1 NATURE AND

PURPOSE OF e A 1 14

BUSINESS
2 FORMS OF BUSINESS

ORGANISATION 4 1 O 1 17
3 PUBLIC, PRIVATE

AND GLOBAL 3 1 | - 1| e 11

ENTERPRISE
4 BUSINESS SERVICES 3 1 i 1 16
5 EMERGING MODES

OF BUSINESS 3 N O 11
6 SOCIAL

RESPONSIBILTY AND 3 A I — 1| e 11

BUSINESS ETHICS

TOTAL 20 15 12 15 18 80
Note :

This question paper contains 34 Questions.
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General instructions:

e 15 minutes reading time has been allotted to read this question paper. The students
will read the question paper only and will not write any answer on the answer book
during this period.

e Please check that question paper contains 34 questions.

e Question number from 1 to 20 carrying 1 mark each

e Question number from 21 to 25 carrying 3 marks each

e Question number from 26 to 28 carrying 4 marks each

e Question number from 29 to 31 carrying 5 marks each

e Question number from 32 to 34 carrying 6 marks each

e Please write down the serial number of question before attempting it.

e All parts of a question should be attempted at one place.



1 | The reward,a business gets for bearing the risks is called............................. ?
2 | The economic activity in which specialized knowledge is required....
(@) business (b)employment (c)profession (d) all above
3 | The industries which provide support services to other industries are known as
1) (@ ) primary industry(b)secondary industry
(c)commercial industry (d) tertiary industry
4 | Tina produces foods not for the purpose ....... called economic activity
1)
5 | Teachers of your school formed a society to buy land and construct flats for its members.
Identify this form of business.
6 | The minimum number of members in a co-operative society is-
(@) 2 (b) 3 (7 (d) 10
7 | A partner whose association with the firm is unknown to the general public is called
(@) Active(b) Sleeping (c)Nominal (d) Secret
8 e company in which .... shares are kept by Government,called government company.
9 |}l has been set up as which type of public enterprise.
(a) Statutory corporation (b)Departmental undertaking
(c)Government company (d)multinational company
10 | Public enterprises are owned by the public  True/False
11 e oldest form of organization of public enterprises is...............
12 p payment mechanism typical to e-business
(@) Cash on Delivery(CoD) (b) Cheque (c) Credit And Debit note (d) e- Cash
13 Jse of ATM to Withdrew money is an example of
(@ B to B commerce (b) B to C commerce (c) Cto C Commerce (d) CtoB
nmerce
14 [te one utility of smart card.
15 | Give any argument in against of social responsibility.
16 pt an enterprise must behave as a good citizen is an example of its responsibility




17

rbon Monoxide emitted by automobiles directly contributes to
(a)Water pollution (b)Noise pollution (c)Land pollution (d)Air pollution

18

H services are provided by...........

(a)Transport company (b)Banks (c)Cellular companies (d)None of these

19

nich of the following is not applicable in life insurance contract

(@)Risk sharing (b)Assistant in capital formation (c)lending of funds (d)None of the
above

20

Overdraft are only allowed in current accounts. True/False

21

State any three social responsibilities of the business towards consumers.

22

Differentiate between e-business and traditional business. (any three)

23

urvi has decided to set up a dairy food processing unit in Gwalior. While working on her
n, she realized very soon that a business enterprise is greatly dependent on specialized

5iness services.

plain briefly any two such specialized business services which are indispensable for a
5iness enterprise.
OR

Werite short notes on:
1. RTGS 2. NEFT 3. Demand Draft

24

. Aman wants to set up a business organisation. He has two main expectations from the
5iness organisation (i) Limited liability (ii)continuity.(iii) service motive

What form of business organisation is suitable for Mr Aman? And explain any two
expectation.

25

e government planned to begin a road project. The government needed management
ecialist and finance help to complete it. The government contacted the private sector to
fil this requirement. Now, this project will be completed jointly by both the public sector

d private sector.
(a) Identify the form of enterprise and state its importance.

Give any two features of such enterprise.

26

rsh is a well known orthopedic doctor in Agra. He run a private clinic under the name
nt and bone clinic’

n context of the above case:




(i) Identify the type of economic activity that Harsh is engaged.

(ii) State any two features of the type of economic activity as identified in para (i) of
the question
OR
Is profit a basic requirement of business? Do you agree? Give three reasons in support of
your answer.

27

Describe various types of insurance, in brief.

SN

28

narat Pvt. Itd. was promoted in 2005 by a group of five friends. As business of the
npany has grown considerably over the years, its management in now planning to cover it
b a public company and raise funds through public subscription of funds for expansion

jects.

te any four privileges that company will have to forego to convert in public Itd company.

(4)

29

C Ltd. is a leader in electronics. It is registered as a company and has its business
brations in many countries and has its headquarters in Japan (Tokyo).

To manage its branches and subsidiaries in different countries, the company employs
trained and professional managers. They always make use of latest technology to remain
leader in electronics.

(a) Name and explain the type of enterprise mentioned in the above case.

(b) By quoting the lines from the above case, identify the four importance of such type
of enterprise

30

shal Khanna Jewellers does retail business of jewellery at a very large scale. The firm has
pay a lot attention to advertisement. The owners of the firm are aware that if they spend
re time on advertisement, some other important activities are left pending. One of the
tners of the firm suggested that if the job of advertisement is handed over to some
ertising company, they might be relieved of that important activity. By doing so, they
| get benefit of specialization and their expenditure on this activity will also be less. The

n implemented this, which gave favorable result.
(a) Identify the emerging mode of business discussed in the para, with explanation.

(b) Also explain any three other non- core business activities which can be done
from outside organization.
OR
Explain the resources required for successful e-business implementation. (any five)

31

ar Ltd.” is a well known real estate company in India. The activities of the company are

erned by the values of truthfulness, respect, justice, commitment, trust and citizenship.




context of the above case:

1)) What are the socially determined values which govern the activities of a business

bwn as?

b) Also describe its basic elements (any four ).

32

Explain the steps taken by promoter in the promotion of a company.

33

What is HUNDI? What were the different types of Hundi used by traders in ancient
time?

OR
Explain any six factors to be considered before starting a business.

34

uri took an insurance policy for her home without disclosing that the home is being used
catering business. After few months, a gas cylinder explosion caused major damage to

property. Consequently, she filed a claim against the insurance company for
npensation of loss. On investigating the matter, the insurance company discovered about

commercial use of the home and refused to pay any claims.
dentify and explain the principle of insurance which has been violated in the above case.

Also explain any two other principles of insurance.

**********END OF PAPER**********
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CLASS-XI
S.NO | NAME OF THE | OBJECTIVE | SHORT | SHORT | LONG |TOTAL
CHAPTER | TYPE/MCQ | ANSWER | ANSWER | ANSWER | MARKS
1Mark | 3MARK | 4 MARK | 6 MARK
SECTION-A  (STATISTICS FOR ECONOMICS)
1 [INTRODUCTION 1(1) 3(1) - - 4
, | COLLECTION 1(1) - 4(2) - 5
OF DATA
5 | ORGANISATION 1(1) - 4(1) - 5
OF DATA
, | PRESENTATION - - - 6(1) 6
OF DATA
MEASURES OF 1(3) - 4(2) 6(1) 13
5 CENTRAL
TENDENCY
MEASURES OF
DISPERSION
6 | 1-RANGE 1(1) - 1
2- QUARTILE 1(3) 3(1) - - 6
DEVIATION
AND MEAN
DEVIATION
SECTION-B  ( INDIAN ECONOMIC DEVELOPMENT)
7 | INTRODUCTION 1(3) - 4(1) - 7
o | CONSUMER 1(2) 6(1) 8
EQUILIBRIUM
, | THEORYOF 1(1) 3(1) 4(1) - 8
DEMAND
o | ELASTICITY OF 1(3) - 4(2) - 7
DEMAND
., |PRODUCTION 1(1) 3(1) - 6(1) 10
FUNCTION
TOTAL - 20(20) 4(12) 6(24) 4(24) 34(80)
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HALF YEARLY EXAMINATION 2019-20
IELRIES RIS
Subject:-ECONOMICS

Class:-XI (FTgdT)

Time I9T: - 3:00 Hrs =& ATer.3F:-MM: 80

General Instructions:

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Questions No.1-10 and 18-27 are MCQ or Objective type questions carrying 1 mark each.
They are required to be answered in one sentence each.

4. Questions No. 11-12 and 28-29 are short-answer questions carrying 3 marks each. Answers to
them should normally not exceed 60 words each.

5. Questions No. 13-15 and 30-32 are also short-answer questions carrying 4 marks each.
Answers to them should normally not exceed 70 words each.

6. Questions No. 16-17 and 33-34 are long-answer questions carrying 6 marks each. Answers to
them should normally not exceed 100 words each.

7. Answers should be brief and to the point and the above word limits should be adhered to as
far as possible.

o= AT

1. TET G % 9T 7 A= 2|

2. TIF W & MU s 39 qro+ a7 T 3l

3. W €T 1-10 TAT 18-27 agaedd Ud aeqivsg W &, S+ I% 7 39¢ U a7 | gf
STUTerd 3

4. 7 F=AT 11-12 TAT 28-29 THAHE TT 8, OFH Td® & 3 3T gl Td® & 30
HTHTIq: 60 9TeaT | ATAF A5l g=T ATRUI

5. ¥ "@EaT 13-15 97 30-32 «ff AT T 8, S\H TIw F 4 6F gl TA® A I
TATHTIA: 70 el & ATEF Fgi [T ATl

6. YT HEAT 16-17 TAT 33-34 TEITHE T g, OHH TAF & 6 3% gl TAH: &l I
TATHTTA: 100 9eTeal & AT Agi gMT AR

7. 3T HITH TAT TEATHT gid ATRT AT TATHTT 39T & AT 9765 AT o Fq0d gl @0 J1e

EHEL
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SECTION-A (WTT- 3)

Q1

In plural sense, which of the following is not a characteristic of statistics?
(a) Aggregates of data

(b) Only expressed in words

(c) Affected by multiplicity of causes

(d) Collected in a systematic manner

Fga=e o4 #, fAwfafe § 9 # aifer ff Freovaragi g 2
(31) STHET T TG

(&) FaT real H =<h

(GIEREEIRUIEEIIEE

(7) FHATRAT &7 F HaHferq

Q2

Mohan wants to find the average height of 4 of his friends. Which sources of data collection
would be suitable for him?

(@) Internal source

(b) External source

(c) Primary source

(d) Secondary source

HIgT 39 4 TEdl 6T 3f9q SATs T IdT AT AT2AT gl el o &g & Hid F Jd 3qh

[EREERE AN
(37) s=a e &

() TR #T
GIRIRIEERC G
(=) o=+ =

Q3

Classification method in which upper limit of interval is same as of lower limit class interval is
called

(@) Exclusive method (b) Inclusive method

(c) Mid-point method (d) Ratio method

TR fater e avTieaY &l ST HAT F9 ST a7 $iae & 9019 gidl 8,39 Hgl Sl
2|

(31) sroestt fafter () aomaeht @t (7) w=x &g @t (3) stquma &t
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Q4

Arithmetic mean is 25 and all sum of observations is 350 then number of observations are
@25 (b)70 (c)14 (d)75

HTATATAY ATeT 25 2 ST T AT F1 67 350 € AT HaT it 91
(325 ()70 ()14 (R) 75

OR (&°7T)

Assumed mean is taken in which method:-
(a) Direct method (b) Step deviation method (c) Karl Pearson’s method (d) Spearman’s
method

Ficad Atex fore fater 7 =T o STar g -
(31) wexer &t (@) us o= f&fer () &1t e Aty (2) =hade Bt

Q5

The sum of deviation of items from median is zero. True/False

qrfeaeRt & qET F A=t w7 907 7 2T ¢ | qBl [T

Q6

Out of the following by which method mode can be calculated?
(@) Inspection method (b) Grouping method (c) Both A and B (d) None of these

eferfed & & e 937 51T agaeh &l S +haT SITaT g ?

(1) dtreror f3fer g (@) Ao fAfd g (/) ST T 9 TET (F) TAH T TS Aol

Q7

Coefficient of range is:-
(@) (H+L/H-L)x2 (b) H+L/2 (c) H+L/H-L (d) H-L/H+L

TRTE IO T A g -
(31) (H+L/H-L)x2 () H+L/2 (7)) H+L/H-L (%) H-L/H+L

Q8

Which of the following measures is least affected by extreme items:-

(a) Quartile deviation (b)Range (c) Standard deviation (d)Mean deviation

9 & & Fl A7 7797 937 aEq3 § T F 7T TATEd giarl g

(&) = A= (7)) wE (7) | @ (3) qre e

Q9

Coefficient of mean deviation from mean is

a. MDx/mean b. MDm/M
c. Mdz/Z c. All of the above
A Y A IS o B G
3 MDx/qTex g MDm/M
T Mdz/z T I9 gt
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Q10

Mean deviation can be calculated by using the:
(A)Mean (B) Median (C)Both AandB (D) None of these

Arex oo A v F e g Aa R S ogear
(31) 97T () WIETHRT (F) o 3T T30 (I) TAH | FIS Al

Q11 | Explain any three limitations of Statistics.
TifeTeht o fohegt e ETHTS 7 F0IT 7 |
OR (3r94m)
Define statistics as a singular noun and as a plural noun.
UHaad U Ggdad & &9 H Gieenl il TATd hitorg)
Q12 | Calculate first, third quartiles and quartile deviation of the following series
S.NO. |1 2 3 4 5 6 7 8 9 10 11
Marks | 10 15 20 25 30 35 40 45 50 55 60
Meferfed sTRel &1 T2, AT Fq9T Ta A (Sl TUET HIo -
7 & | 1 2 3 4 5 6 7 8 9 10 [11
3 10 [15 [20 [25 [30 [35 [40 [45 |50 |55 |60
Q13 | Define Primary data. Explain any one method of collection of these data .
TR STRST Rl TICATIO  hITord | Svg Ul X il TRl U faredT T aars |
OR (3r94m)
Explain the characteristics of a good sample.
T 3= (Aaele & o7 Jarsy |
Q14 | Make a frequency distribution (inclusive series) of the following data. The class interval is to be

taken as 6 --

T ST il TZ1AT | Ueh S (Fa¥oT i AT TUTEAT 0l =T HiTorg | aiF
fawame 6 #1 o |

24

26

28

32

11

15

13

14

18

23
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9 18 27 36 15 21 27 33
4 8 12 16 10 3 8 1
4 9 6 2 18 27 23 1
22 15 29 17
Q15 | Calculate median of the following distribution of data:-
Marks 10-20 20-30 30-40 40-50 50-60 60-70 70-80
Number of 42 38 120 84 48 36 31
Students
fReferiea srhet & faawor gy Arfegs srq fitere:-
R 10-20 20-30 30-40 40-50 50-60 60-70 70-80
Tt 42 38 120 84 48 36 31
#T T
Q 16 | From the following data Draw “Less than ogive” and “More than ogive” curves.
Marks 0-5 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40
No.of students 7 10 20 13 12 10 14 9

FefrTed SIRET & e ¢ “H i e d " AT “H ATaE SoiTed ” % i TAAT ity |

S ED 0-5 5-10 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40
faert=t & 7 10 20 13 12 10 14 9
g7
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Q17

From the following data calculate mode using the grouping method.

Size 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90
Frequency 4 10 25 15 25 22 12 3
fReferfea st & agas w1 AT g fafer g nd i |
ST 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90
a4 10 25 15 25 22 12 3
OR (¥ro7m)

The following table shows marks obtained by the students of a class in their test in Economics:-

Marks 0-10 10-20 20-30 30-40 40-50
No. of 20 24 40 36 20
Students

Calculate arithmetic mean using step deviation method.

erferferd qrferst ¥ =TT gTer T29me & 99T | YT 3% q9M0 I0 ¢ -
B e 0-10 10-20 20-30 30-40 40-50
=t & 20 24 40 36 20
g7

Tz o= fate g sfea & F7q e |

SECTION-B (WTT- )

Q18

What will be the shape of PPC when marginal opportunity cost is constant.

(@) Concave (b) Convex (c) Straight line (d) Upward sloping

AT HATAAT A T SATHTL FAT SR ST H AT ATEL AN (2T ZIeAt & —

qAIEY (F) IAAIET () HTHT @ (F) S Al A ATAT g LT

Q19

Economic problem arises due to:

(a) Limited resources (b) Unlimited wants (c)Resources having alternative uses (d) All of these
AT THEAT IS BT & -
(31) TTHT FTe (F) AHTHT T=g13 (F) FTEAT & ahicdsdh STANT (T) STLH T9T
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Q20

Normative economics deals with
(@) Facts (b) Opinion (c) Both A and B (d) None of these

I THATE TFTET & -
(=0 =t " (F) = 7 (@) I A TE T (F) TAH H IS Aal

Q21 | Ordinal concept of utility expresses utility in terms of
(@) Unit (b) Level of satisfaction (c) Constant (d) None of these
SYATIAT sl FHATHF ATLTLOT ITATAT il 2h FLAT &
(af) T 36 w6 () W ¥ EAw F AT (7) R F AT A (2) T T S
Q22 | When Total utility is maximum,marginal utility becomes
(a) Zero (b) Unity (c) Positive (d) Negative
ST FHel ITATRIAT SATEHRAH gial g ,q7 SIH STATEAT gl &
(1) T (F) ZHTE (H) GATHT () FRITHT
Q23 | Marginal rate of substitution indicates the slope of
(a) Budget Line (b) Price line (c) Indifference set (d) Indifference curve
T Tiaea I i 3T 9T §
(31) STe T@T () FHIFT T@T () TeeqaqT 998 (3) Teeddl ah
OR (3140)
A shift in the budget line,when income of the consumer remains constant,is due to:-
(a) Change in demand (b) Change in Prices (c) Change in preference (d) Change in utility
TR st T R Tg 9, &5e ¥@T | qaad grar g -
(AT 7 TRE0 % FOT (F) HATE F TREAT 6 H0T (F) ATGAET H TRATT 6 H0 (3)
STATHGT H IRad & w0
Q24 | Define consumer equilibrium.
STHTTHT T I TLATOT RIS |
Q25 | When increase in price of one good causes an increase in demand for the other, the goods are
(a)Substitutes (b) Complimentary (c) Inferior (d) Giffen
ST T T 1 HIAd H qlag  HIOT AL a6l ARTH e 2l STAT &, AT &A1 F&q0 2t &
(37) TITHTIS FEqU (T) T a&q0 (c) Foite aequ (3) FModT aequ
Q26 | If a good can be used for many purpose,the denand for it will be elastic. True/False

Tfe FoelT &g &1 F2 I29AT o o7 TART 63T ST aahdT 31 a1, 38! TRT ATHETL g,
el [Ared
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Q27

When TP of 1% unit of labour is 10 and MP of 2" unit of labour is 15,than TP of 2" unit of
labour is

@10 (b)15 (c)20 (d)25

ST A9 T Tgelt SIS 1 T Icd1 10 § TAT A7 il THL s T HH1T Ica18 15 8 a7 9|
& &1 THIAT T T TG g

)10 @) 15 ()20 (3) 25

Q28

Define demand.state the factors affecting demand for a commodity by a cosumers.

HIT T TICATHT ZIT(T | T STHIRT &6l & o [T TRT 9T TATT STAT a7l FlLeh qT30 |

OR (37174)
What is market demand? State any two factors causing increase in market Demand?

FTSITE /T 4T g2 AT T | g o6 i &l w1 oy |

1+%+%
+YotVs=

3

Q29

Define Production function? Distinguish between short run and long run production functions?
STATET oA AT § ? ACTRTATT ICATET BeAd U SHH A 9 SCATEA FeAd | q¥ T Hifory |

1+42=3

Q30

Explain the central problem “What to produce” with suitable examples.

FAT IcATE [T ST 7 T THEAT T It IIT@LUN o &7 FU hifory |

OR (3194)
What will be the impact of “Education for all Campaign” (Sarv Shiksha Abhiyan) on the

production possibility curve of the Indian economy and why ?

“go TreAT ATHATT “ T AT ATATEAT F IqTed FHATIAT a5k T AT TATS TST 31T 7T 2

Q31

Distinguish between “Change in demand “and “Change in quantity demanded of a good?

“HRTH qRad " ST “ 7O A /=0 H qRad |/ a8 i |

Q32

Consider the demand for a good,At price ¥ 4,the demand for the good is 25 units.Suppose price
of good increases to ¥ 5,and as a result,the demand for the good falls to 20 units.Calculate the
price elasticity.

T F&q ! FRT 9T A= IS0 | % 4 Fiwq 9 v aeq £ 3 ghredt i1 qi v €7 St ¢ | 7
AT it Fwq T FHT qEwT T 4 B AT ¢ OEF Forea=q awq it TRT TEhT Qo THRSAT gl JATAT 3 |
FXHT AT 1T T |

Q33

Explain the consumer equilibrium with the help of Indifference Curve approach. Use diagram.

TEEAAT A T AN FLA §U STHITHT HeoA T hl GHATST |, T@T= T T TIRT F7 |

OR (372r4)
Define Indifference Curve. Explain the properties of indifference curve

JEEIAT ok [ TICATIOT IS | Teearar a3 il [AATTei 7 Fuie hifory |
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Q34

Explain the law of variable proportion in terms of the behaviour of total physical product with

the help of schedule and diagram.

ATHAT T @I 6l HSIAAT § T AT 3T 6 AGgIE 6 & H TRad] AT & a9
#T SATEAT FITIT |

END OF PAPER
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SAMPLE PAPER

HALF YEARLY EXAMINATION - 2019-20
CLASS - XI M.M - 80
SUBJECT - ENGLISH (CORE) TIME - 03.00 HRS

General Instruction:
1. This paper is divided into three Sections: A, B and C. All the sections are compulsory.
2. Separate instructions are given with each section and question, wherever necessary. Read
these instructions very carefully and follow them

3. Do not exceed the prescribed word limit while answering the questions.

SECTION A (READING 20 marks)

Q1. Read the following passage carefully and answer the questions that follow : 12 marks

1. Like Celine Dion's Academy Award-winning Titanic theme song, 'My Heart Will Go On’, the
mystery around what led to the sinking of the superliner on 14th April, 1912, it seems, will
continue forever. So even one hundred years after the incident happened, we have yet another
theory bobbing to the surface. To recount the old official tale, MS Titanic was on its way from
Southampton to New York when it struck an iceberg just off the coast of Newfoundland. The
glancing blow hit the 100-metre long standard section of the hull, creating a huge fissure in its
hull. Seawater rushed inside its six supposedly watertight compartments. Soon all the cabins
were flooded and within the next three hours, the ship went down. More than 1500 people lost
their lives in the disaster. According to some hypotheses, Titanic was doomed from the start by

the design so many lauded as state of the art.

2. But not many bought this theory and a legion of stories about the legend began to come
out.The latest has been floated by science writer Richard Corfield who says that the rivets that

held the ship's powerful hull together were not according to their specifications in composition or



quality and gave way when the ship hit the iceberg. A quick web search, however, reveals that
the fascinating thing called the human mind is capable of much more, while one pinned the
accident down to a fire inside the ship's coal bunkers, another one talked about the curse of the
Pharaohs because a traveller had with him a sarcophagus containing the mummy of an ancient
Egyptian priestess. Other than these glamorous theories, there are the ordinary ones: the
helmsman making a steering blunder and the ship moving too fast to win the Blue Riband ,a

prestigious prize awarded to a ship for making the fastest North Atlantic crossing.

3. So what makes the Titanic story tick? From the very beginning, its story was tailor-made to
be fascinating .Investigating it made good business too: from books to research grants to
underwater expeditions, not to mention a mega budget movie. In other words, the Titanic story
has been done to death. May be the hundredth year is a good time to leave the ship in its watery

grave once and for all.

A. On the basis of your reading the above passage, complete the statements given below by
choosing the most appropriate option:(1X6=6)

(1) The Titanic had started from...........ccccceveiiinniiiinnnn,

(a)Southampton

(b)New York

(c)New Foundland

(d)Egypt

(i)According to Richard Corfield, the cause of sinking of the Titanic was...........
(@)The cursed mummy being carried in the ship

(b)The helmsman moving the ship too fast

(c)The poor quality of the rivet

(d)A fire inside the ship's coal bunkers

(iii) The prize for the fastest ship to cross the North Atlantic was the ................

(a)Sarcophagus



(b)Blue Riband

(c)North Atlantic prize

(d)Both (a) and (c)

(iv)Investigation of the Titanic story led to good business in...........c.ccoccevvennne
(a)Ship construction

(b)underwater fishing

(c)Tailor-made stories

(d)Publishing books

(v)The idiom 'done to death ‘means

(a) discussed so much that it would not be forgotten

(b) discussed so much that it has become boring

(c) discussed so much that it has become interesting

(d)none of these

(Vi) The word.....cccooveveiiiiiiieee in paragraph 3 means 'remain in the limelight'
(a)fascinating

(b)tick

(c)prominent

(d)business

B.On the basis of your reading of the above passage, answer the following questions
briefly.(1X4=4)



(i)How can Celine Dion's Academy Award-winning Titanic theme song be compared with the

mystery around what led to the sinking of the Titanic?

(i)How did the Titanic sink, according to the official story?

(ili)What blunder did the helmsman make and why?

(iv) The people who benefitted from the Titanic disaster were

C. Which word in the passage means the same as:(1X2=2)

()highly praised(para 1)

(if)attached (para 2)

2. Read the following passage and answer the questions that follow — (8 marks)

For more than half a century a number of Indian universities have been running courses in
journalism but it remains an enigma that even now the country is without a well-developed
educational programme for the mass media. We have developed some fine and prestigious
training institutions for catering, business management, architecture, engineering, medicine and

other professions but university programmes for training in journalism have remained anemic.

Prof, Eapen, who has been associated with journalism education since the mid fifties, pleads
strongly for universal participation in journalism education and training and maintains that our
universities which turn out excellent material in engineering, medicine and several other fields of

human activity, should also succeed where journalism is concerned.

Eapen sees the Indian Press patterned on the British model in the matter of recruitment and
training. Britain had its Fleet Street but no schools of journalism. Then why should there be
university courses in journalism in India? London did have a journalism course at King’s College
as early as 1919. But he feels that the conventional frame of education may not be fully relevant
to an occupation such as journalism which relies so much on the conscience of the practitioner.
At the same time, he holds on to his contention that information workers need to be given high
quality education in the art and science of communication which is possible only in an academic

atmosphere. He points to the success of the American experiment in this regard.



The author laments that, ethics as a topic is not treated at length in any of the universities.
Doctors, lawyers, other professionals, have taken hold of their training. They have established
their standards of proficiency and developed codes of ethics and means of enforcing them, but
there is no Hippocratic oath for journalists.

Discussing the shortcomings of journalism education as it stands in India today, he says senior
journalists, are not interested in teaching journalism. This has stunted the growth of journalism
education. It has created a situation where there hardly is another field of study in India in which
the standard on instruction is as low as in journalism training. Some faculty members do not

have the necessary academic or professional qualifications to be university teachers.

University courses in journalism are in such a sorry state, that editors do not depend on these
courses as the suppliers of trained manpower for their papers. But a substantial newspaper

initiative in this direction is required.

(2.1) On the basis of your reading of the passage make notes on it using recognizable
abbreviations wherever necessary. Give a suitable title also to the passage. (5 marks)

(2.2) Write a summary of the above passage on the basis of your notes in not more than 80
words. (3 marks)

SECTION B (WRITING AND GRAMMAR) (30 marks)

3. You are Isha of R.K. memorial Sr. Sec. School. Gurgaon. As the cultural secretary of your
school, write a notice in about 50 words for your school notice board inviting names for the

excursion trip to Goa planned in the last week of October. Give all relevant details. (4 Marks)

OR

There has been a constant rise among school going children in substance use and drug

addiction. Your school has decided to organize a workshop to create awareness among the



children about the effects of drug addiction. Draft a poster on “‘Say No to Drugs’ to be displayed

in the workshop.

4. You are Ankit/Ankita living at 152, Mayur Vihar, Phase- I, Karnal. Write a letter to the
Commissioner of Traffic Police of your city complaining about the absence of Traffic Lights at
the crossroads of the main market resulting in regular traffic chaos in the area. Ask him to depute
a traffic policeman till the traffic signals are installed. (6 marks)

OR

You are Harsh/Harshita living at G-504, M G Road, Gwalior. Write a letter to the Course
Director, Department of Distance Education, Dr. Hari Singh Gour University, Sagar, Madhya
Pradesh, making enquiries about a correspondence course in Diploma in Yoga Education.

Request him/her to supply all the details of the course.

5. Write a letter to the Editor, The Indian Express, Mumbai sharing your views and concerns
about the problems caused by heavy rains every year in Mumbai and other metropolitan cities.
Sign yourself as Sunil/Sunita of H-235, Kasturi Apartment, Juhu, Mumbai. (150-200 words)
(6 marks)

OR

You are Gaurav/Garvita living at L-108, Sector-25, Chandigarh. You are disturbed to see the
recent trend among the Television and film industry people who prefer to shoot abroad despite
India’s rich natural beauty. Write a letter to the Editor of The Tribune, Chandigarh sharing your
views and ideas about the need to encourage them to use the Indian locations for shooting. (150-
200 words)

6. You are Anil/Anita. You are concerned to notice the drastic climatic changes and rise in
global temperature. The need of the hour is to plant more trees Write an article on “Each one
plant one” (150-200 words) (8 Marks)

OR



As the School Captain of Delhi Public School, Meerut you have to deliver a speech on the topic
“Duties and responsibilities of the School council” Write the speech in about 150-200 words.
You are Ritik/Ritika.

7. The following paragraph has not been edited. There is an error in each line. Read the para

carefully and edit the error. The first error has been edited for example. (172 x 6 =3)
Error Correction

Elimination of child labour are undoubtedly are is

one of a biggest challenges faced by our (@) o

country. Much laws of our constitution (b) _

prohibits child labour in any form. It (©) _

have been stated in Article 24 that no (d)

child below the age 14 shall be employ (e)

in many hazardous occupation or work. )

8. Look at the words and phrases below. Rearrange them to form meaningful sentences.
(1x3=3)

(@) love / of others / good manners / and / win the / respect

(b) when / best / they can/ one is / be learnt / young

(c) saves us/turns away / soft answer / anger and / pitfalls / from many/a
SECTION C (TEXT BOOKS : 30 marks)



9. Read the stanza given below and answer any two questions that follow: (1 x 2 = 2 Marks)
Upward to heaven, whence, vaguely formed,

altogether changed, and yet the same,

| descend to lave the droughts,

atomies, dust-layers of the globe,

And all that in them without me were

seeds only, latent, unborn

(@) Who is ‘I’ in the above lines ?

(b) How does the rain make the earth beautiful?

(c) What happens to the seeds after the rain?

OR
The laburnum top is silent, quite still
In the afternoon yellow September sunlight,
A few leaves yellowing, all its seeds fallen.

a) Describe the laburnum tree before the arrival of the goldfinch.

b) What is the mood in these lines?

¢) What disturbs the peace of the laburnum tree?

10. Answer any five of the following questions in about 30-40 words : (2x5 = 10 Marks)

(i) State the emotional and mental condition of the poet as she looks at the photograph?

(if) With examples from the text show that the grandmother was a religious lady.

(iii) How has Archeology changed substantially in the modern times?( Discovering Tut: the
saga continues)

(iv)Why was Aram delighted and frightened to see Mourad on a beautiful white horse?

(v) Sometimes it is better to forget old memories as they create hindrance to move on in life

.Explain with reference to the chapter The Address.’



(vi) What was the root cause of conflict between the History teacher and Albert?

11. Answer the following questions in about 120-150 words. (6 marks)

What inspired the author to undertake such a risky voyage? What was his experience?

OR

Write a note on the concept of Shanshui. How does it illustrate the Daoist view of the universe?

12. Answer the following question in about 120-150 words. (6 Marks)
Einstein was in conflict with the established norms and values of his school days. Discuss with
reference to the story “Albert Einstein at School.”

OR
Do you think Ranga’s marriage was a consequence of the plot of the narrator or the prediction of

the astrologer? Substantiate your answer.

13. Answer the following question in about 120-150 words. (6 marks) In the
lesson “The Portrait of a Lady”, describe how the bond of friendship between the author and his
grandmother grew strong and then weak with the passage of time.

OR

In 1922 Tut’s tomb was discovered. Much of the treasure buried in the tomb had already been
plundered. The materialistic and scientific attitude of man does not allow even the dead to sleep
in peace. Discuss with reference to the story: ‘Discovering Tut: the saga continues’

The End




SAMPLE PAPER
Foaride q41er 2019 - 20

awg 39, fAww —fEar (3meam), Ui 80+20=100, FeT 117
T 95 AT e (i 9=)
gT oo &
(F) ERIEL G 16
1. | srafsa TEarier — Sy (AT 9T AeTia Sve, Sy, A a < 10
of e afTfe 9% Te@erets 157 (2x4)+(1x2)
o | T H H UH AUTST FHISATT ATl (FTATLT I AT 6 TLALHF | 06
LRl
(@) FEATAT [Zal 3T TAATHF e (A=A T<h Y "reas & & 20
AT IY)
3. | &y e RufR / =t F ste® ww 397 @+ (e 7fzq) 05
4. | SOATE T/ FF-Fq @/ TS FaedT sraad 9 (Awew afga) | 05
5. | FATERIE d@d Stdded/ Y& fE=ta/ a1/ FEg=1/ FEa 03
ERUCNEERSIGIED))
6. | STEHATT HTLAH T THRTLAT o A9 AITH 9 AT ALAHF | 04
o7 (Faered afga)
7. | ersgerrer af=g & gafea v wor (Free @fza) 03
@) TTSTIETF 44
1. I AT 01 32
T FTT AT 16
8. | I FTATIT § | FhHET Ueh AT IT 7T 0T F Haterd i I 06
(2x3)
9. | U= FreAT F HigT A9 U 3 H F 2 T (3x2) 06
10. | wfearatt &t oo aeq o swenfia 3 § & 2 oraerews w7 (2x2) | 04
. T AT 16
1. | srerter o2 sremfa oref wgor 7 Hetaa =T w(2x3) (1x1) 07
12. | 9Tt &t AT Feq 9% Semia A § | AT areTeEs 7 (3x3) 09
2. faam @ 01 12
13. | arat &t fao aeq 2 araria &7 § 7 uF 7w (4x1) 04
14. | 9Tt T o Feq 92 sreTia o | F <7 Haerd T (4x2) 08
(=) . CENIGRIKCIED] 10
g, qRIeEr 10
% 100




SAMPLE PAPER

Iéyaris g8 2019-20
Far : 114t Ry : B (3mUR)
AT : 3 T quits : 80

de- (1) 9T S & oF 580 9T 99 H A TS F, @, T A Fol 14 9T § |
(2) T3l gea fAard g

s &
e 1 A& aTemer &I 9ghl q& T WRal & 3o difaie-

facardi &7 3EPR HEFHaT § H¥SH dgdr ST W § AT IR &Ml
HUFR gl H §, AT FdeT QU A H AL | A U DT FE S Gehell & | Ig FIA
il & 3R weh AT T 3maeTsh o § | fheq 3TeT o Taegrdt A Ig soen "¢ T § R
faeTar & 90T 37 AF AT & g @ AV § | ITEolA AT S31 I &l 1 TR HAT 3eTh
STl T 3T F T & | Fo6i ot & PROT faemedi 319er HfUSRT & g APy 7T € |
39 o g8 U FHSH o § | HWAR N i ol Th-gER @ 93 Wd § | Ty
EUfy a€r el ST Fehell & SI9 alal o Tclorel 81 | 37ToT 0 Taendt 3iftsr & i aorr §
Wed 9 Y Soiedl H AR F 9@ g =T § | v WA B AT wrogEy Wl 3w
gS & |

) 3Mefen TaeAIAt & Faar & Sar F37 gidl o Wr & ?
) Tt urr: feraenr fatiy e § 2

1) Tt & frass gfa Hamerar e § 2

") HRER AN Feicy 7 Far Gau § ?

) Ieier F 3 e T |

o) Hge IR TIET Use & Ao oree fAf@w |

N N

(
(
(
(
(
(

—_ = N DN

wRe 2 fAFAfi@d reamr $ gghi & T 99 & I &I - 1X6=6
AT ST ager 31g St g A arel,
3RET Tels &7 et &7 fhapforar & eivemamed|
o, gRa &7 & =i W et Fr wfar, = Al |
3T ISTd TUT ASIRAT F @18 =Y 3H d% HI 3TelT,
SR I¢ &, 9ol & GoT &1 38T hifehell HeraToll |
() Ffaar &1 3faa e Bf@T |
(@) &xdr NARIT-AY 47 o1 W@ g ?




(31) ‘el I & Fa7 AfAUT § ?

(') ‘SArerd Fr el ford 3R AT FHgr AT § ?
(

(

3) 3T F FAT IRadd 3T § ?
) T8l e &g & Tpfae-dicd &1 qofer fhar ar § 2
FYqar

IfE or G & Fepdl A FHIC FHA F HA AT A3

g 3PTH e T G, FHAAR F3T AlAT FHl A

HACT $T AT BT F Gl el A TqF AHT

BT TAFdr & werd, Jgdr UIol & &JsY 9 |

Tohe H IS HAHT o Thl, I § FHT g1 AT A3 |

I Gl 8T aF T ar Hic HA-T-FA A ST ||
(o) ‘Gl et 3N ‘i el T Teiehrd 4T § ?
(@) 7T ToheT TEATAAT & 37end giar & 3R o~ ufaar 3@ aa dx &dr g 2
(31) Hehe 3T T HJST &1 AR hal glel =Ifer 3R a4t ?
(6) FT # e W I § IR g8 HA g & S & ?
(S)ehTedTer & & HETaRX Tolohd arerd T HIfST |
(%) ‘foiFerar e H el Aeq HleTdT §7?

gus - g

g9 3 [awg WX 3mURd T @ HIfSv | 5
fRar Aer T T

Hgar
TSI s UeRiH @1 T
g4 ﬁﬁﬁﬁﬂ%ﬂﬁﬁ?ﬁwrﬁmﬁ?Wﬁwmaﬂﬁg@

HFUICH, Bogedlel, e AL AW, 75 ool 1 97 fAf@T |

AYar
feee 7R ere | fAfaer argd a7 |, faeeh & 3ngead & gruffs equs & 9g & faw
3dea-u7 faf@u | 5

9T 5 39e facrerd A AT g arel Wellewa & Hafoua afAfa i do& &1 g
R AFT |

AYgar
9 Hgodl H FAT AT Matled Yol FARE H Giddesd IR HIAT | 3
e 6 oAt weAt & & fohegl IR 94T o 3R GIfolT 1x4=4

F) STATIR F FATCIH Pled-hld A § ?

T) FART & Tehfold Hll dTel I v AT & ST AT g2
aT) TARIRAT § 3T FAT FASIA & ?

) HATR ATEIAT H HH e dlel TIHRI & JhR i@ |

(
(
(
(

2



(@) de & a1 I3 g ?

g 7 A QU v ersel Fr seh w7 fAf@u | 3
HTTT QTG ahTel, AR AT, 31fAe, 31mehrer, fase, gfafSad,gaec, e, A1, 37,83 |
3rgar
3TTRIT, JSUT, g Tett, &1, AT ca, farer, Jenrere, Aoz, fafrse, e, dehferd, #e |
GUs-r

uRe 8 fAFATITEd Ieamer H ggehi & 1T el & IR faf@u - 2X3=6

W fF W FH IR o,

A H gt 38,

SfgeT 3T$ &9 & R,

g Y IRdT & & !

B fh oA #9 3 8,

a9 f& 3 Fa I3 8,

IR H1S IR SR,

ST g IR St |

() HIq T dg«T P IYAT AR IRATT T &G FAT ST g ?
(@) ‘T 15 TR diger’ I IR TASE HITAT |
(31 Hfa & TRaRE Faut W grer sfaT |
arqar
TFAT Srell . F fhda 315 8, &g,
g A, JH Fe-for@ o g 35 &
H dr sarg Falt F wE
3R g S sT1E 8 oI
dar # 3Yel STerd @I Her Ay I
el # el & ST gant
Fhelhd W Tk R |
() T Hfd T FAT Bl & IJRT AT @Ml 672
(@) a8 Ua-for@el & ot fr Fe fFa geR Far &2
(A1)  TUT 9 STIH & R H FIT Hoedel Il g2

geeT 9 fAFATaf@d FHrearer H Jga IS 0 9 F F el @ F 3w AfSw- 3 X 2 = 6
Y FReR aiare |, g8 o Fig
o & f&R AR-HHe A ufd &g
oif3 & Fel 1 Flel, Fgl FRE FIS ?
T &1 af5-3fs eep-orrer @RI |
() fohegl &I 3TeihRT &l TAST HIFAT |




(@) TeTer HT AT T g [AAvae QT |
(3T) TSI HT ATG-Tlgd FIST FHITAT |

ueaT 10 ReAfaf@d yeat & ¥ fhedl &1 & 3R Qfv - 2X2=4
(F) T W wfaar & Fa i f=r & fOv Feg TFAeR aam@r =ar § 2
(@) FEIR & frd 3R FI7 aeT w1 § 2
(31) SSId T ITe FT AT dead & 98T & g 9fdd 39Tl & TR W TS
AT |
e 11 fefaf@a  aremr & ggal g8 T geat & 3 QST -
AT A8l o gsagay digrer ¥ A Remar-faere o[l aoaq oisr, W Ig ar
HIgT, YT YSal1 AT § 7’
o gEat ¢ar 3R st - AT, e JEaRade ar Fg1 g1 ? I8 ar @ifeEl @
QUG ¢ | §F dl JWER T dled AR 3WEN Tgadrel el &l &1 [Hocem dasd
g | & - SFHSNN EH F SEE FAT FH § | W, ATA Tgl do o A dehell®
3515 & § a IfSv-a qoer aed § !
(F) ‘TUGSIRT 3Gl § FIAT AT 872
(@) fAIT AHREEdId IR AdMET & IR # FI7 T @d & ?
(31) FHRCEIT & TAHTE I GHE TAATAHT T Tehrr AT |
(7) I@IR Ygaiardi &I fdaear a1 amam gem ?

= N N DN

el 12 fhegl T 9T & 3aX fof@v - 3x3=9
(%) TTHS P IR Fglell o MUR R IFAET FT IRF-FF07 HIfFC |
(T) YRTH FI Algd & [hT cTagR W 3MRAT giar g AR F4f 2
(31) FoleT PN SEAHT FIT SAT IS I1AT ?
(') TG & T FE e SHad-a9« d & ?
TReT 13 USRI & WY AG-HATS & TIgR A Tgel T Jolell H ST &A1 Beh HAT § 2
ASTEAT I ToTd §a 916 & MUR W TSy |
rgar 4
foage golld & &Rl & &1 foons QU 1 3heR I8 3RIT oRTAT ST §- 56 ded
H AT T TS HIfAT |
ges 14 rafaf@d # & =l @ veai & 3 faf@v - 4+4 =38
(@) o 3R 16T & TR F ATT IR F4AT § 2
(@) 3T A @i & foner o1 & genfad giar g ?
(31) VSR 39 AT fr &1 A Fa § ?




SAMPLE PAPER

HALF YEARLY EXAMINATION
XI- Informatics Practices (065)
Session: 2019-20

BLUE PRINT
Very
Long
Short Short Long Total
Answer Total
S. No.| Typology of Questions Answer | Answer Answer No. of
(L.A)) Marks
(VSA) (SA) (L.A)) questions
(4 marks)
(1 mark) | (2 marks) | (3 marks)
Unit-1 ( Introduction to
1 04 02 01 01 08 15
Computer System)
Unit -2 (Introductory Python
2 Programming) 12 11 07 02 32 55
* Note:- Up to Dictionary
16 13 08 03 40 70

Informatic Practices Syllabus is to be covered in Half Yearly Examination-2019-20




Unit 1: Introduction of Computer System
Basic computer organisation: Computer system — 1/0O Devices, CPU, memory, hard disk, battery,

power, transition from a calculator to a computer and further to smart devices. Trouble shooting with
parts of computer and basic operations of operating system Basic concept of Data representation:
Binary, ASCII, Unicode

Unit 2: Introduction Python Programming
Familiarization with the basic of Python programming: a simple "hello world" program, process of

writing a program, running it, and print statements; simple data-types: integer, float, string. Introduce
the notion of variable, and methods to manipulate it (concept of L-value and R-value even if not taught
explicitly). Tokens - keywords, identifiers, Literals, Delimiters. Knowledge of data type and operators:
accepting input from the console, assignment statement, expressions, operators (assignment,
arithmetic, relational and logical) and their precedence. Conditional statements: if, if-else, if-elif-else;
simple programs: e.g.: absolute value, sort 3 numbers, divisibility. Notion of iterative computation and
control flow: for (range() , len()), while, flowcharts. Suggested programs: finding average and grade for
given marks, amount calculation for given cost-qty-discount, perimeter-wise/ area-wise cost
calculation, interest calculation, profit-loss, EMI, tax calculation (example from GST/Income Tax).

List and dictionary: finding the maximum, minimum, mean; linear search on a list of numbers, and
counting the frequency of elements in a list using a dictionary. Text handling: compare, concat, and

substring operations (without using string module).
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INFORMATICS PRACTICES

[Time allowed: 3 hours] [Maximum marks: 70]

Instructions:

() Programming Language in SECTION B: PYTHON.

(i) It is compulsory to mention on the page 1 in answer book whether you are attempting
SECTION A or SECTION B.

(iii) All Questions are compulsory within each section.

SECTION-A
1. (a) | Whatis ROM ? 1

(b) | What is MICR ? 1

(c) | What is difference between Compiler and Interpreter ? 2




(d)

Explain Primary memory and Secondary memory in detail.

2. (a)

What is Antivirus ?

(b)

IMB=(.............. BYTES

(1) 210 (i)220  (111)1024 (iv)None

(©)

What is difference between ASCII and ISCII ?

(d)

Explain System Software and Application Software in detail .

SECTION-B

3. (@)

What is the difference between Keywords and Identifiers?

(b)

What is Token ?

(©)

What are Punctuators ?

(d)

Explain pluses and minuses of Python programming .

€)

What is difference between Interactive mode and Script mode in python ?

()

Consider the following code:
string = input (“Enter a string :”)
count=3
while True:
if string[0] =="a’:
string=string[2 : ]
elif string[-1]=="b’:
string=string| :2]
else :
count+=1
break
print(string)
print(count)
What will be the output of above code if inputs are
(i) aabbcc (ii) aaccbb (iii) abcc

W N DN P | -

4. (a)

What will be the output of 13/4

(i)1 (i)3.25  (ii)3  (iv)None

(b)

What will be the output of 14.0%4
()3  (ii)3.0  (iii)2.0 (iv)None

(©)

What is Binary equivalent()2 of Decimal Number(50)10

(i)(0010011),  (ii)(110010),  (iii)(010011) »  (iv)None

(d)

How can you create multi line string in Python ? Give Example.
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€)

Write a program in python to check the whether the given number id ODD or
EVEN.

(f)

Write a program to create a dictionary containing Name of students as keys and

phone numbers as values and print it.

5(a)

What do you mean by an Algorithm?

(b)

What do you mean by a Flow Chart ?

(©)

Find out the problems in given code. Correct the code.
1. s1="must’

2. S2="try’

3. nl=10

4. n2=3

5. print(s1+s2)
6. print(s2*n2)
7. print(sl+nl)
8. print(s2*sl)

(d)

What are Data types ? What are Python’s built-in core data types ?

(€)

Write a program to search for an element in a given list of numbers.

6. (a)

Choose mutable data type?
(i) Boolean (iList  (iii)Tuple  (iv)String

(b)

Write the most appropriate list method to insert a given element at any specified
position in the list.

()insert  (i)append  (iii)extend (iv)remove

(©)

Which of the following are syntactically correct strings? State reason.
(a) ”Python is nice Language”

(b) ,,“Namaste

(d)

What is difference between break and continue statements with examples ?

(€)

How are Dictionaries different from Lists?

()

Write a program in python to print the largest among three numbers

7(a)

What is a string slice ?

(b)

What is an infinite loop ?

(©)

Write a program in python to print the following pattern :
@

@@

@@@
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@@E@
@@E@@@

(d)

Predict the output of the following :
X,y=7,2

X, Y, X=X+1, y+3, x+10

print(x,y)

(€)

Differentiate between for and while loops with example .

()

Write a program in python to print Fibonacci series upto 10 elements
01 1 2 358..........

(9)

Write a program to calculate BMI of a person after inputting its weight in

Kilograms and height in meters and then print the Nutritional Status as per

following table: (Hint:
Nutritional Status | WHO criteria BMI cut-
off
Underweight <185
Normal 18.5-24.9
Overweight 25-29.9
Obese >=30

BMI=Weight/(Height)?)
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